
20 40 60 80 100 120 140

−
4

−
2

0
2

4

Cluster: 0036 ptr; resid: 0.38; r/c: 19/55

x.range

upstream meme PSSM #1; e=1.1e−13

1 3 5 7 9 111 3 5 7 9

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=4.6e+04

1 3 5 7 9 11 13 151 3 5 7 9 11 13
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22187
23429

3366

39662

40214

41413

42734

43126

47396

48008

48011

48354

48801

48947

49040

50081

50296

54222

5617

string −500 −400 −300 −200 −100 −1
22187−0.01
40214−0.02
54222−0.11
43126−0.19
41413−0.28
23429−0.57
48947−0.63

3366−0.68
5617−0.74

48354−1.28
50296−1.69
42734−1.88
48008−1.98
39662−2.05
48801−2.64
49040−3.33
48011−3.33
50081−4.09
47396−5.60

log10(P) upstream meme1 2 log10(P.clust)=−1.64; 19 seqs; 19 uniq
c(0.5, 2.5)
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